OPTicAL TNSTRUMENMTS HMWJIC S0WM NS

D Ve wed Yo obyed dstane p. Fma Ha oo ol obyed
5705 we Lo %d Yo nudio a( P +o %
:}y h, =Ad4cwm

M= - p = o = 130cwe ( hi= =24 begueo oo noess
Thon we hove A ke teveded )
| L S N R P 17 iTo
F’P+%‘PL]+‘BJ:PIK_|+Q.4]
Bo - 2 ‘
?:‘&'X(I"' H>:(5C'W\)(\+g3 = Ssch\ = 1350 m

PRI ?’L ) QJ'_SCM+ ;OUW\ \ﬁ.—.gqgmm\
D= 30 cm ff’— Rém + ‘zfocw\ \¥=23.\Mmj

:>' g G\DJed 'S & 2Sem  amd ‘JC: 50 e S0 T m\aé_g Socadion is

N [ R

~'Fb¥’:s°—9:\'5 = 2@5'800«»'\)
?mmﬁ%‘%\i .QQN\>‘LS ong PU\M mu|waég 758 ¥y rneon
! PQ"V\_\-JSO +6\Q wnusion 3

\X,\: S0 cvn

”r) (OQ Fou dastant obje ds P is low%a = take 0> 0 =5 g:o
T ?L - #] =) f = % Ne wwd o pud Y o G0
oy Jf(’/\o. Perbw\'s %r PO, A = Lee W | % = — A8 . o

/UC: ~ 128 e }




{‘9) LQL'\O\T Ol.f)jed Adisdomn \AJ'TJQQ Viguy 81\\/2, am AW\D&%Q a e
PaQ/rSUV\ IS N2 PO‘\\f\,J\'. X,‘: IS ten Lo VJ\Q |W\ﬁ?ag \AnLQ EQ

G\,‘\ :*lSC'W\
R
P9
L 1 Ny I A A
- - = _ - _\" = _
p=f 9 (950 St s T 12S

P= MHO0um . The pasm wnfl be vadole 0 Dows on obyeds
(/\ow 1w \'6\15,)50 m WS NQOA po‘m'} 'S

l X,= 7.0 Cen ‘]

= Xn[$+~)\zj
(0\> Vivtual I\'V'\O«Cag aT \;V\QV\:% D X=
X 4T
AT V\/G = 0‘5/3 =) M= >
o) Fou x= Xn T4 omSier
\
m= 25 (3+3s) 2 | m=b

Jo me %e % > [mei]

r\—]w\Q., {-f.;.,a%r,_;—(bw% PW 1S %fulch( FITL J\'@i Sewmé (l(/\&m
(b> Froran s mﬁjwe_&) Hag M«au.ﬂa/\ Size D£ e whaég ﬂqnm\nd b‘ét

Ha magei Spnpe, afoss Ts _ -
AR A SR

If bolde (eopds focos 4o ) [ I Hognn
bon g ol = W{ . Svae o ddom nes e Sire v a
e, he Al be Yo same fn kot Ts megeifying
power is Gosdon e u Send puason because M Yoo ko
ok Hu Waop Size Wt Yoo Lons Tt macy Sizp Litbod
tha Lovs. Pecase o second poson Can't focws witl e objed
0S do’so) he Witthout s fove L) be Svaller

5)| Tha mwcéwi%mé Prwer IS given by

X

% =0




) - u -
| 1 ()
E%Pieu Dbjective
Tn gurarad Hs mogeniSyire pruon i YR
m= " £ {,
The s focans, tone B R el pomt of Ha 24e0re0 , SO
L= g de

L - ﬁ—f{,: %~ ’& = Joom— lown

GsXis)  ———
m= TN (G) = —IQS\

)
Tham

((Q U a jrd&com

b)

A

Becave Ky oo 1o fnc o\wa& QD WC 100 (v | Gand
S e \ma%e Size 1S

= o= (1000w ) L 001) (h= lcwxj

C)% A ponen 1S duslr Ha aoto o{: e W
Gite O@M% %Y\o\ N\Map, Ho g a\mﬁmlax\ $ite ONC obded So

ol = (33.3) (0.0 rud) L ol= 0333 mdaws




